GDCE 31-05-2022: TECH-III/TRD & TECH-III/ELECTRICAL
QUESTION PAPER (100 QUESTIONS) & ANSWER KEY

RRC Technician 1 EXAM 2

Topic:- Shift 2 Technician 1 EXAM 2
1) Which of the following is true:

foreorferf3aer af A @lor a1 A& 3 ?

[Question ID = 15][Question Description = Technician_Electrical_Q01]

LI
6 12
[Option ID = 57]
L
6 12
[Option ID = 58]
3 29 43
6 12
[Option ID = 59]
29 53
6 12
[Option ID = 60]

2) Tapas, Ravi and Rishi shared a cake. Tapas had 1/2 of it and Rishi had 1/6 of it. The part of cake shared by Ravi is ,

aru=i, A iz Y of ves ddas ATen e AU & URT DT M1eT 30 SBRY & urd st 1/6 B3 MY grr Asn s srn &a ot = 2l

[Question ID = 16][Question Description = Technician_Electrical_Q02]
1. 2/6

[Option ID = 61]
2. 1/3

[Option ID = 62]
3. 3/5

[Option ID = 63]
4. 1/5

[Option ID = 64]

3)

In the circle above, chord AB is extended to meet the tangent DE at D. IfAB

=12 ecm and DE= 8 cm, find the length of BD.

SWRIed g #, Sar AB &) T=Rar DE R D R fiem & e agrar wimar 81 afe (aB)
= 12 Y} 3R DE= 8 I, 1 BD I waTE JTd PIToT|

[Question ID = 17][Question Description = Technician_Electrical_Q03]
1.5

[Option ID = 65]
2. 4

[Option ID = 66]
3. 472

[Option ID = 67]
4. 672

[Option ID = 68]

4) A swimming pool is filled in 10 hours by four takers A, B, C and D. The tanker C is twice as fast as B, and Tanker B is four times as fast as A and Tanker D is same fast as A. How much hours will
tanker A alone take to fill the swimming pool?



uas Rafdier gyer o ar Tz A, B, C 3iie D grr 10 @2 & s R srar 3 Tavz C, B 3 Qwojon a9 3, 3iiz T2 B, A 31 ar 3fon au1 3 sk T D, A @ airel a1 3 a2 A Y arddal Rafdior ger svar 3 fRpaor €@ ol

[Question ID = 18][Question Description = Technician_Electrical_Q04]
1. 120

[Option ID = 69]
2. 140

[Option ID = 70]
3. 160

[Option ID = 71]
4. 180

[Option ID = 72]
5) If height and radius of a cone is 21 cm and 10 cm respectively then the volume of cone shall be

Afe v iy bt Fard iz feysam amer: 21 A siie 10 Aeft 3, A 9iay @1 3o Rocon Son?

[Question ID = 19][Question Description = Technician_Electrical_Q05]
. 2100 cubic cm / 2100 ot 3wt

[Option ID = 73]
. 1100 cubic cm / 1100 #er Jwft

N

[Option ID = 74]
. 3300 cubic cm / 3300 #or it

w

[Option ID = 75]
4. 2200 cubic cm / 2200 @t Juft

[Option ID = 76]
6) In a bag the ratio of apples and mangos is fixed. When there were 20 mangos in bag, there were 84 apples there. Similarly, when there are 105 apples in bag, the number of mangos will be

wop o1 3 AW 3iiz 3119 DI srqurd forfdia 3 Sia o1 3 20 a3mer & Y asi 84 A9 A 3= Yoo, 1@ Fer 3 105 A B, A sl b et |

[Question ID = 20][Question Description = Technician_Electrical_Q06]
1. 25

[Option ID = 77]
2. 21

[Option ID = 78]
3. 28

[Option ID = 79]
4. 22

[Option ID = 80]
7) Three years from now Manoj’s age will be ten years less than thrice of Shyam’s age. The sum of their present age is 76 years. What is Manoj’s age?

3 A o1 adf arg Hoilst DI 3Ry 9ama DI 3y @ <ot Jpor A 1 ad @ SR Jorchl adtHIGT IRY DT AT 76 ad 3 FHoirst B I a=r F?

[Question ID = 21][Question Description = Technician_Electrical_Q07]
. 20 years / 20 ad

[Option ID = 81]
. 56 years / 56 ad

~

[Option ID = 82]
. 54 years / 54 ad

[Option ID = 83]
. 22 years / 22 ad

w

ES

[Option ID = 84]

8) Type 1 machine can do two times the work of Type 2 machine. Twelve Type 1 machines can complete a task in 10 days. How many days would it have taken for twenty Type 2 machines and
ten Type 1 machines to complete the same task?

erzu-1 wiofior erzu-2 F1ofier A YN B @2 Al 3 aRE crsu- 1 wficl v Rl @ 10 el 3 g1 @2 Al ¥ & ersu-2 s1ofieil siik o ersu- 1 wiefioll @1 3t BRI B gar @1 3 fRdol et cPR?

[Question ID = 22][Question Description = Technician_Electrical_Q08]
1. 12

[Option ID = 85]
2. 6

[Option ID = 86]
3. 18

[Option ID = 87]
4.10

[Option ID = 88]
9) If the number x04997 is divisible by 11, what is the face value of x?

Aafe Fizear x04997, 11 A fpirsw 3, aY X @I #o1 @ 3 7

[Question ID = 23][Question Description = Technician_Electrical_Q09]
1.5

[Option ID = 89]
2.2

[Option ID = 90]
3.1

[Option ID = 91]
4.3

[Option ID = 92]
10) Find the first negative term of the below A.P.
offr Ru a1 siesarfdretlr @ @1 usen spuNcH® Ue ST BIfSTE |

159, 155, 151, 147,.....

[Question ID = 24][Question Description = Technician_Electrical_Q10]
1. 40th / 40dt

[Option ID = 93]
2. 43th/ 43ai

[Option ID = 94]



w

. 41th / 41ai

[Option ID = 95]
. 42th / 42ai

N

[Option ID = 96]
11) A total amount of Rs.15200 is to be divided among A, B and C such that A gets 30% of B and B gets 40% of what C gets. How much will A get?

15200 su &6 @er afd1 @1 A, B 3iiz C 3 331 yoor fpnfora fisen sirar 3 f A @t B @1 yre ot arcft 21far @1 30% siiz B @1 C ot g 3iot archt 1fdr @1 40% gre aiar 3 df A o Reaeft ifor Rrcefi?

[Question ID = 25][Question Description = Technician_Electrical_Q11]
1. 2000

[Option ID = 97]
2. 1200

[Option ID = 98]
3. 1500

[Option ID = 9]
4. 5000

[Option ID = 100]
12) The ratio of the heights of Raju and Nisha is 4 : 3. If Nisha is 1.5 m tall, then height of Raju is

I 312 forom Bt Feé @1 srgure 4:3 Al forem 1.5 e cidt 3, A gy B Hané ool Bpft ?

[Question ID = 26][Question Description = Technician_Electrical_Q12]
1. 1.8 m /1.8 dfiex

[Option ID = 101]
2. 1.6m /1.6 sl

[Option ID = 102]
3. 2.0m /2.0 s

[Option ID = 103]
4. 1.75m / 1.75 oficx

[Option ID = 104]

13) Select the number missing from the

o aropan 3 3 o e w1 e @ |
9,13,22,__, 63

[Question ID = 27][Question Description = Technician_Electrical_Q13]

1. 52

[Option ID = 105]
2. 61

[Option ID = 106]
3. 43

[Option ID = 107]
4. 38

[Option ID = 108]
14) 3rd January 2022 was a Monday. Which of the following years will also have 3rd January on a Monday?

3 Srorast 2022 o1 Awar er foeiferRaa 3 3 feper avd 3 it 3 Sreradt @ AlER den?

[Question ID = 28][Question Description = Technician_Electrical_Q14]
1. 2028

[Option ID = 109]
2. 2026

[Option ID = 110]
3. 2025

[Option ID = 111]
4. 2029

[Option 1D = 112]
15)
In A ABC, AB =8 em. £ZA is bisected internally to intersect BC at D.
If BD =6 em and DC =9 em, then what is the length of CA?

A ABC ®, AB = 8 9t 2 | LA &1 GHIGUS® 3die ¥4 T BC H1 D W)
fear 21 afe BD = 6 Tl 3k DC = 9 A §1 4 cA Bt dars fha= g2

[Question ID = 29][Question Description = Technician_Electrical_Q15]
1. 12.cm /12 Juft

[Option ID = 113]
2. 10cm / 10 3uft

[Option ID = 114]
3. 7.5cm /7.5 Jft

[Option ID = 115]
4. 9cm /9 wft

[Option ID = 116]

16) Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
Manager has planned special recruitment drive for housekeeping staff every month for office.

Assumptions:
(1) There are more vacancies of housekeeping staff.



(I1) Manager wants better upkeep of office.
U s1e aa ur AR ©3% ik =1 o¢ 5 & o1 et # A @ior A aron siafsia 3 (3)

qas:

yders of wrifert & Riu 52 #flor sadiftien e @ R sidf sifirirer @ Rre &t Astern doré 3
TI0MIE:

(1) srerbiftier ¥erw 6 Rfepai afrs 3

(Il) yderes @riferr @ dea? RaeEa asar 3

[Question ID = 30][Question Description = Technician_Electrical_Q16]
. Only assumption (1) is implicit. / @aer aron (1) siafsiga &

[Option ID = 117]
. Neither assumption (1) not assumption (Il) is implicit. / o1 @ emevn (1) 3fi2 of emon (I1) sfafsffaa 2

N

[Option ID = 118]
. Only assumption (Il) is implicit. / d@aet emzom (I1) siafoffaa 2

w

[Option ID = 119]
. Both assumption (1) and (1l) are implicit. / emun (1) 3fi (I1) <Xl siafsffde 3

IS

[Option ID = 120]
17) Select the correct option that depicts the correct mirror image of the given word when mirror is placed vertically to left of the word “HEALTHY”.

A& fravea @1 @RIt @3 Sit s1a guur @t “HEALTHY” oreg d aré iz st 23ar Sirr 3 d $1 oreg & gdur 3f sfdy @t gerfar 3 |

[Question ID = 31][Question Description = Technician_Electrical_Q17]

"YHTLAEH

[Option ID = 121]

*“YHTLA3H

[Option ID = 122]

"YHTJA3dH

[Option ID = 123]

*"HEVILHA

[Option ID = 124]
18) Consider the given statement and decide which of the given assumptions is/are implicit in the statement:

Statement:
Teachers must attend workshop

Assumptions:
(I)Workshop updates teachers
(I)Workshops kill time

feu are werer v Rar @3 ik @1 @ 5 Ry a1e sl 3 A wler a1/ weror 3 foiflda 3/ |

DT
Rigrel @ wrlonen 3 sraga et Ao anfde |

AT
(1) rfomren fArgrat @t srerdet @t 3l
(Il) riomems R cuel ol 3l

[Question ID = 32][Question Description = Technician_Electrical_Q18]
. Only assumption (Il) is implicit / @aer srgpmer (11) foifaea &l

[Option ID = 125]
. Both assumptions (I) and (Il) are implicit. / @il aigret (1) iz (11) foifda &

N

[Option ID = 126]
. Neither assumption (1) nor (ll) is implicit. / ot e srofmt (1) 3 ot &t (I1) foifda 3

w

[Option ID = 127]
. Only assumption (1) is implicit. / @act srgpret (1) foifda &

IS

[Option ID = 128]

19) Select the answer figure that fits in the blank space in the given Problem Figure:

v a1 gear-anafer (Problem figure) & swR-3napferil (Answer figures) 3 & = amfr o arIol 3 Sit f¥eb Ferrer o z1eR) Sug 3 |



Problem Figure

Ao
&
?

=
|9
IS
Answer Figures

|| 9 | K

B C D

[Question ID = 33][Question Description = Technician_Electrical_Q19]
1. A

[Option ID = 129]
2. B

[Option ID = 130]
3. C

[Option ID = 131]
4. D

[Option ID = 132]
20) In the morning X and Y are walking towards each other in open field. When they meet each other, X’s shadow falls straight in front of Y. In which direction Y is facing?

gre: X 3iiz Y el dicrol 3 o ¥ Bl 307 el W E S| d vo-gen A Bierd 3, at X B orn A Y @ et usdl 3 dl'Y o s Row Rem 3 37

[Question ID = 34][Question Description = Technician_Electrical_Q20]
1. East / qd

[Option ID = 133]
2. West / uftmn

[Option ID = 134]
3. North / 3=

[Option ID = 135]
. South / &féror

ES

[Option ID = 136]
21) %6YIF9#IMXZOJA
Using above sequence fill in the blank
IR DA DT GieT 2 b Femer B gfef 3 |

96# : YFZ :: O#l :

[Question ID = 35][Question Description = Technician_Electrical_Q21]
1. MX1

[Option ID = 137]
2. M19

[Option ID = 138]
3. X

[Option ID = 139]
4. Mx!

[Option ID = 140]

Solve the following: / Frafafaa o1 B B
64-[63-{62-(56- 128 — 131)}]

22)

[Question ID = 36][Question Description = Technician_Electrical_Q22]
1.3

[Option ID = 141]
2.2

[Option ID = 142]
3.1

[Option ID = 143]
4. 4

[Option ID = 144]
23) If Vis the brother of U, U is the sister of W and X is the husband of U, then W is V’s

Al V, Ut o 3, U, W Bt agor & aiie X, U w1 afr 2, @t W, V @t 2

[Question ID = 37][Question Description = Technician_Electrical_Q23]
. Uncle or Aunty / 3iwet i 3tict

[Option ID = 145]
. Brother in Law or Sister in Law / gg2 set cif ar e sof cif

N

[Option ID = 146]
. Brother or Sister / sm$ @ agor

w

[Option ID = 147]
4. Mother / amemr



[Option ID = 148]
24) In the Venn diagram below, which number space represents boys who are athletes and disciplined?

offd 3w a1¢ Yot 3m¥ 3, DBlol-AT 3B FeUTel o TSB! DY Gorfar 3 St werelle I aiiz srggonfna 3?7

10

9

[[] —— Bovs®E® () ——= ATHLETESTR&=TET
A — GIRLE s [ ] ~————» DESCIPLINED ﬁ'ﬂﬂﬁﬁ

[Question ID = 38][Question Description = Technician_Electrical_Q24]
1.1
[Option ID = 149]
2.7
[Option ID = 150]
3.9

[Option ID = 151]
4.2

[Option ID = 152]

25) Statements:
Samosas are Jalebi. All Jalebis are Tikki. All Tikkis are Barfi

Conclusion:

I. All Jalebis are Barfi

II. All Tikkis are Samosas
Il. All Samosas are Barfi
IV. All Barfi are Jalebi

DT
FARY Sl ¥ sft Skl Racbt ¥ it Rt st 31

forcad:

(1)ensft st st 31

(I1)2nft Rercht awairem 21(111)anft iy aust 2l
sl st srrk 3

[Question ID = 39][Question Description = Technician_Electrical_Q25]
. Only I'and Il follow / @aet | 3fi2 11 srgreur avae 8l

[Option ID = 153]

2. Only I and Il follow / aaet | 3l 111 sioprur a2t 3
[Option ID = 154]

3. Only Il and IlI follow / aaet Il 3k 1 srgprour a2t 3l
[Option ID = 155]

4. Al follow / it sroprur o 3l

[Option ID = 156]
26) Choose the Venn diagram which best illustrates the following three classes
Mountains, Forests, Earth
Aot 3m¥z@ ot Sit fowaiferRRaa fw a1e dior aeif @Y Jrdfaer wu 2 gerfar 3l

uBrs, Siorer, gedt

[Question ID = 40][Question Description = Technician_Electrical_Q26]

[Option ID = 157]



[Option ID = 158]

[Option ID = 159]

[Option ID = 160]
27) The following Pie chart shows the distribution of students in 5 sections of a class. There are total 1600 students in class.

ToraiferRaa uré @né vos wen @ 5 st A s1gi & faarur @1 orfar 3 g A wa 1600 oy &

How many students are in Section A?

s A 3 fovaor o1 37

[Question ID = 41][Question Description = Technician_Electrical_Q27]
1. 90

[Option ID = 161]
2. 100

[Option ID = 162]
3. 200

[Option ID = 163]
4. 400

[Option ID = 164]
28) Rs. x invested at 9% simple interest per annum for 5 years yields the same interest as that on Rs. Y invested at 7.5% simple interest per annum for 4 years. Find x : y.

>. X @t 5 auf @ fore 9% amensor sarst gfer adf & ¢ A forder v sirar 3, aY 331 Uz Idon 8 st firerar 3 Ridon b . Y @ 4 auf & fore 7.5% amemsor sarst yfer adf & 2 A forder w1 w2 fBrerar - X:Y st

[Question ID = 42][Question Description = Technician_Electrical_Q28]
1. 16:15

[Option ID = 165]
2. 40:45

[Option ID = 166]
3.2:3

[Option ID = 167]
4. 5:6

[Option ID = 168]
29) If in a certain code, if PEARLS is written as 823745 and JEWELS is written as 926245, then in the same code, what will WEARS be written as?

afe fpft @rs 3 PEARLS @1 823745 siiz JEWELS @1 926245 ferar siar 8, di 32t wis 3 WEARS @1 =i ferar smean?

[Question ID = 43][Question Description = Technician_Electrical_Q29]
1. 62573

[Option ID = 169]



2. 62735

[Option ID = 170]
3. 62374

[Option ID = 171]
4. 62375

[Option ID = 172]

30) Three triangles are marked out of a bigger triangle at the three vertices such that each side of each of the smaller triangle is one-third as long as each corresponding side of the bigger triangle.
The ratio of the areas of the three small triangles taken together to that of the bigger triangle is?

ftor feparsil oY was a3 feyagst & ot oftel U 331 YR dotrir 3RN 3 5 gdas B feprst Bt Y s a3 Rypgst 6B Y Hora sfsi B cdaré @1 ues freré a1 al dior 81 feggsil @ iquwall @ A1 32 a3 fpast & iquwd o1 requrd
feodon gem?

[Question ID = 44][Question Description = Technician_Electrical_Q30]
1. 3:1

[Option ID = 173]
2.1:3

[Option ID = 174]
3.1:2

[Option ID = 175]
4.1:9
[Option ID = 176]

31) Select the most appropriate term for the given set of items:

forgarferRaa <t o1 TR D JgE D e AGA IUYTD 9rT T RIGT DI

the [ EEH

[Question ID = 45][Question Description = Technician_Electrical_Q31]
. Mathematics / aifort

[Option ID = 177]
. Rubrics / efida>

N

[Option ID = 178]
. Analytics / faauvncars

w

[Option ID = 179]
. Graphs / sw

IS

[Option ID = 180]
32) Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem Figures.

e snapferit (Answer Figures) 3 2t v simeapfer @1 avier @3 Sit uia @ snapferit (Problem Figures) grr corfé a1 gjzaen @ st w2eft

Problem Figures:
§ N C A 1
O - A
(A) (B) (C) (D) (E)
Answer Figures:

X 0 C s

1l e o
(1 @ @) @

[Question ID = 46][Question Description = Technician_Electrical_Q32]
o1

1

[Option ID = 181]
2.2

[Option ID = 182]
3.3

[Option ID = 183]
4. 4

[Option ID = 184]

33) Consider the given statements to be true and decide which of the conclusions logically follow(s) from the statements:

Statements:
Some lions are tigers; some tigers are elephants. All elephants are monkeys; All monkeys are humans.

Conclusions:
1: Some humans are tigers.
2: Some monkeys are tigers.



feu a1e werwll @1 Ac AL 31 @I ¥ 5 wier AT Pt wepll o MB® FU A IRV I B

@At
@B IR a1 B 3; P ar srell B ¥ wsft wreht dow 3 it e samer @ ¥

forsapef:

1: @ $ar0r @ 86 &

2: P |62 am A &

[Question ID = 47][Question Description = Technician_Electrical_Q33]
. Either conclusion 1 or 2 follows. / fored 1 @1 2 srgpivr @ 3

[Option ID = 185]
. Both conclusions 1 and 2 follow. / foread 1 3iiz 2 Gl gRIRur @ &

~

[Option ID = 186]
. Only conclusion 1 follows. / ddet foreesd 1 3rgRur @2er &

w

[Option ID = 187]
. Only conclusion 2 follows. / ddet foreat 2 sroRmur aeer 3

IS

[Option ID = 188]

34) Find the LCM of 34, 85 and 102.

34, 85 3ik 102 @1 crgaa Aamuact i |

[Question ID = 48][Question Description = Technician_Electrical_Q34]
1. 510

[Option ID = 189]
2. 1020

[Option ID = 190]
3. 680

[Option ID = 191]
4. 340

[Option ID = 192]
35) If the letters of the word ‘RADIOCHEMIST’ are to be arranged in reversed alphabetical order from right to left end then position of how many letters will remain unchanged?

wfe orec 'RADIOCHEMIST' @ a1l bl oIt A &I¢ 81k aw 3c¢ avifolad 3 cuafyed fpar sime, at fedor sigrRl &t fefer squf¥afefa w3ft?

[Question ID = 49][Question Description = Technician_Electrical_Q35]
. More than three / dlor 3 siftra

[Option ID = 193]
2. Two /gt

[Option ID = 194]
. One / o

w

[Option ID = 195]
. Three / dier

IN

[Option ID = 196]
36) Si Unit of momentum is

a1 B T 3nE. sOIE &l

[Question ID = 50][Question Description = Technician_Electrical_Q36]

- Kgam/s / IGASI IR R (IR ]
[Option ID = 197]

» Ke.m/s? / fparm. dHicydas?
[Option ID = 198]

s Nam/s / .M Ads
[Option ID = 199]

« IKg.m?/s / e Hiczdss

[Option ID = 200]
37) The reflector of search light is

I anrse @1 Rwdrae? 51 yor @ dtar 3 ?
[Question ID = 51][Question Description = Technician_Electrical_Q37]
1. Convex mirror / 3det guor

[Option ID = 201]
. Cylindrical mirror / deteirr gdur

N

[Option ID = 202]
. Concave mirror / st guor

w

[Option ID = 203]
4. Plane mirror / et ufur

[Option ID = 204]

38) When number of resistors are connected in series in a circuit, the value of current across each resistor:

Sia fopeft uftaer & of gferiel o Suftar i SitsT Siar 3, aY g & &1 ®T Aol

[Question ID = 52][Question Description = Technician_Electrical_Q38]
1. remains unequal / 3riarer 3aer 3

[Option ID = 205]



2. Remains equal / 2wirer 3 &

[Option ID = 206]
. Increases / asar @

w

[Option ID = 207]
4. Becomes half / amer gt smem @

[Option ID = 208]
39) A train takes 20 seconds to cross as bridge of 200 meter travelling at 90 kmph. Find the length of the train in meters.

was ot 90 fpalt gfer a6t awar 3 200 ez @ goT @ ur @t i 20 AwBs o AR Al & ot B ciard ez 3 = Sph?

[Question ID = 53][Question Description = Technician_Electrical_Q39]
1. 150

[Option ID = 209]
2. 200

[Option ID = 210]
3. 300

[Option ID = 211]
4. 250

[Option ID = 212]
40) A 10.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10 m/s, the amount of net work required to be done on this object is:

was 10.0 Roopr &t axg 5.0 Mc/AdSs &t aifer A Gifersr Ron 3 a6 28 3 sardhl arfer dY 10 aficx/Ads ad agror @ ferg, 31 ur Roan srn wrRl Rodon den ?

[Question ID = 54][Question Description = Technician_Electrical_Q40]
. 3750/ 3759

[Option ID = 213]
. 6250/ 6255

N

[Option ID = 214]
. 750J / 750 s

w

[Option ID = 215]
. 500 J /500 sper

EN

[Option ID = 216]
41) In Engineering drawing, pencils are classified in to different grades according to

Sofiforafier spger 3, ARy @1 @ IoLanr fAfdroer 33t 3 aeffaya fvam smer 3 |
[Question ID = 55][Question Description = Technician_Electrical_Q41]
1. Intensity of blackness / weluor &t diqer
[Option ID = 217]
2. Hardness / @arer
[Option ID = 218]
. Both Intensity of blackness and Hardness / @rcmmuor 32 @drar Sleit & diger

w

[Option ID = 219]
4. None of the above / somY 3 w1$ oft ot

[Option ID = 220]
42) The BIS has recommended FIRST ANGLE method of projection for technical drawings from the year

dlamg.oa. of ad 3 amoildl FEe1 @ fore ggruvr bt wad dorer faf?r Bt Rrwifyer &t 3 |

[Question ID = 56][Question Description = Technician_Electrical_Q42]
1. 1991

[Option ID = 221]
2. 1992

[Option ID = 222]
3. 1990

[Option ID = 223]
4. 1881
[Option ID = 224]

43) To get isometric projection of a solid, the body diagonal (or) solid diagonal of the solid must be

Qb SR BT ISAARD Yauvr yra aor @ fere, SR @t didt (=) difers Borr anfdu |

[Question ID = 57][Question Description = Technician_Electrical_Q43]
1. Perpendicular to VP. / acfeer wlot & cfdqaa

[Option ID = 225]
2. Parallel to HP / gif¥sifocet wier @ Fmotioe

[Option ID = 226]
3. Perpendicular to VP and Parallel to HP / @il acfaser Yot @ ciaar 3l &if¥siioect wiot @ Jatrotic

[Option ID = 227]
4. None of the above / somt 3 wI$ sft ot

[Option ID = 228]
44) Hatching lines are normally at an angle of

ReTeNsol AT FA A ____ @ @t uz axdt F |

[Question ID = 58][Question Description = Technician_Electrical_Q44]
. 60 degree / 60 f3oft

[Option ID = 229]

. 45 degree / 45 f3oft
[Option ID = 230]

. 30 degree / 30 f3ft
[Option ID = 231]

4. 70 degree / 70 f3oft

N

w

[Option ID = 232]

45) The number of views required for visualizing an object depends upon



foft avg @ Sl 3 Raarel @ e smagaras g9 (views) &l iz uz fonk wadt 3 |

[Question ID = 59][Question Description = Technician_Electrical_Q45]
. Angle of Projection / ggur @1 @stor

[Option ID = 233]
2. Size / ufysmor
[Option ID = 234]
3. Shape / smR
[Option ID = 235]
. Complexity / sifectar

ES

[Option ID = 236]
46) A Tetrahedron has number of triangular faces.

TP AquBeID (2gRSIel) 3 RSITR Weramt & e axdt 3

[Question ID = 60][Question Description = Technician_Electrical_Q46]
1. 6

[Option ID = 237]
2.8

[Option ID = 238]
3. 4

[Option ID = 239]
4. 12

[Option ID = 240]
47) The diagonal passing through centre of gravity of a solid is
T ST @ IBeardHul B D A IY5Rol arell vt gl

[Question ID = 61][Question Description = Technician_Electrical_Q47]
. Face diagonal / wrf sreieic

[Option ID = 241]
. Body diagonal / dist sreiercr

N

[Option ID = 242]
. Surface diagonal / W SKEiT

w

[Option ID = 243]
4. Axis diagonal / ofderr sreiorer

[Option ID = 244]

48) Using a machine a weight of 500 kg was moved through a distance of 7 cm by an effort of 20 kg, which moves through a distance of 210 cm. Find out mechanical advantage and velocity ratio
of this machine.

w wieflol T Iu=NeT B g 500 fpoyr @ asior @Y 7 Aeft B ¢ft ad Feretiaf¥a @ & fre 20 fvog & g @t 210 Wit 6t ¢ft ao o s srn | 531 aFefter @ wifea amt 312 T rgpure (A3l 39a) s Hifsre

[Question ID = 62][Question Description = Technician_Electrical_Q48]
1. 25,30

[Option ID = 245]
2. 24,25

[Option ID = 246]
3. 30,25

[Option ID = 247]
4. 25,20

[Option ID = 248]
49) The efficiency of self locking machine is

A difdser srofior 6 gerar 2l

[Question ID = 63][Question Description = Technician_Electrical_Q49]
1.1

[Option ID = 249]
2. >50% but <100% / > 50% cifdor <100%

[Option ID = 250]
3. <50%

[Option ID = 251]
4.0

[Option ID = 252]
50) At what decibels, sound becomes hazardous noise pollution?

o 3feer wr eafér vas o eafor gguvT Wt St 37

[Question ID = 64][Question Description = Technician_Electrical_Q50]
. Above 30 / 30 3w

[Option ID = 253]
. Above 80 / 80 3 3w

N~

[Option ID = 254]
. Above 100 / 100 3 5wz

w

[Option ID = 255]
. Above 120 / 120 3 w2

IS

[Option ID = 256]
51) On the job injuries and illness cost money time & effort. What is the most practical way to manage these losses?

GitesH &Y <l 3k st uz ST e i g W AYar 3 501 ATl DY WA BN BT AGA RATasIys afiet aar 37
[Question ID = 65][Question Description = Technician_Electrical_Q51]
1. Make sure safety is part of labor contracts / Jfeif w3 b e gpr srgjeiell w1 B 3l

[Option ID = 257]
. Aggressive claims handling / sy afidd 3 erdl @1 et

N

[Option ID = 258]
3. Good insurance coverage / arcot diar @adst



[Option ID = 259]
4. Effective safety and loss control program / yaird} 3jen sfie aifer foricur el

[Option ID = 260]
52) Which one is the main greenhouse gas responsible for global warming?

acitaer arfdfor o fere Rrder g1 Afotersa A alar 2t 3?7

[Question ID = 66][Question Description = Technician_Electrical_Q52]
. Hydrogen / asgysiot

[Option ID = 261]
. Oxygen / sifafisior

N

[Option ID = 262]
. Nitrogen / smsqistor

[Option ID = 263]
. Carbon dioxide / wrder sissifamss

w

IN

[Option ID = 264]
53) The reprocessing of discarded materials into new useful products is called

¥} ARES DY ofw IuRIef Jeurc! 3 acero, waere 3l

[Question ID = 67][Question Description = Technician_Electrical_Q53]
. reuse of waste material / smfdre Jmwwft @I gor: Juier

[Option ID = 265]
. recycling of material / 2mft @r gorcfaur

[Option ID = 266]
. management of solid waste / St aa? ®r ygtror

~

w

[Option ID = 267]
. reduction in use of raw material / @ed areT B IuRier 3 Dol

IN

[Option ID = 268]
54) The image shown below is a symbol of

offr fear arm ferg @1 yeftew 3 |

[Question ID = 68][Question Description = Technician_Electrical_Q54]
. Current transformer / @w¥c gz

[Option ID = 269]
2. Variable coupling transformer / uf¥acofter goator giamwnfz

[Option ID = 270]
. Voltage transformer / dicest grmwiifz

w

[Option ID = 271]
. Auto transformer / 3ifel gizmmtz

IN

[Option ID = 272]
55) In a Internet browser address bar, HTTPS stands for

geolc I3 @ u3A ar A, HTTPS i aref 2l

[Question ID = 69][Question Description = Technician_Electrical_Q55]
. Hyper Text Transfer Protocol Standard / aEuz 2asc glRiwe Qedic 3¢5

[Option ID = 273]
2. Heavy Text Transfer Protocol Standard / 3dt 2aze e Qiciate 3¢ss

[Option ID = 274]
3. Hyper Text Transfer Protocol Secure / gsuaze iz Qidtaicl Riaeiz

[Option ID = 275]
. Special Hyper Text Transfer Protocol / fadiu asuz 2ave iz Qictasicr

EN

[Option ID = 276]

56) The short-cut to undo an action in an MS-Word file opened on a computer with Windows operating system is

feisior sifa¥feer Rizear arcr wwiez uz et a8 MS-Word wrser 3 it e @t yedaa wor @1 licae 3l
[Question ID = 70][Question Description = Technician_Electrical_Q56]
1. Cntrl+C
[Option ID = 277]
2. Cntrl+Z
[Option ID = 278]
3. Cntrl+X
[Option ID = 279]
4. Cntrl+V

[Option ID = 280]
57) Wien’s Bridge can be used to measure

dorar (Wien’s) for ____ @1 el @ fere sedee fovan s A 3 |

[Question ID = 71][Question Description = Technician_Electrical_Q57]
1. Capacitance / @R

[Option ID = 281]
2. Power / eiftp



[Option ID = 282]
3. Phase angle / b1 wsicr

[Option ID = 283]
4. Heat / 3w

[Option ID = 284]
58) Which one of the following instruments can be used for measuring insulation resistance?

Sociorel Yyferier ot aimuor @ fere foiferRaa 3 31 fper Suavr a1 SuRieT fapar s wwar & ?

[Question ID = 72][Question Description = Technician_Electrical_Q58]
. Megger / bz

[Option ID = 285]
2. Galvanometer / dicareit sfice

[Option ID = 286]

3. Rheostat / fsieee
[Option ID = 287]
4. Electrodynamometer / sddaisriomaistics

[Option ID = 288]
59) The Sl unit of illumination Lux (Ix) is equal to

scyfdroreret cra (Ix) &6t war.and. sors aur 3 ?

[Question ID = 73][Question Description = Technician_Electrical_Q59]
1. One lumen per square foot / v gt yfer dof Be

[Option ID = 289]
2. One lumen per square centimeter / v gl yfer aof Jiciafics

[Option ID = 290]
3. One lumen per square yard / e el yfer asf srst

[Option ID = 291]
4. One lumen per square meter / wa gl yfer aof aficz

[Option ID = 292]
60) As per IS standards, which class of insulation can withstand highest temperature?

TS TA. HToTdl B AGPRAR, $oYAN9IGT BT Dlol AT Iof IJcaIeldl ATUHToT DI ATl BT ADT 3 7

[Question ID = 74][Question Description = Technician_Electrical_Q60]
. Class A / aemt &

[Option ID = 293]
. Class H / aemt va

N

[Option ID = 294]
. Class C / gem 2t

w

[Option ID = 295]
. Class F / aemr vw

N

[Option ID = 296]

61) In Synchronous motor, the percentage slip at full load between stator RMF and rotor pole is

Rigior #iies 3, 32 AR.EATE. 3R Az dla @ &4 g dis ur yferera Faa 2l
[Question ID = 75][Question Description = Technician_Electrical_Q61]
1. 0.01
[Option ID = 297]
2. 0.1
[Option ID = 298]
3. Zero / g
[Option ID = 299]
4. 0.5

[Option ID = 300]
62) The principal of operation of 3 phase motor is almost similar to that of a

Wl FHler D Harerol o1 Rigia cemer @ Jarat 3 |

[Question ID = 76][Question Description = Technician_Electrical_Q62]
. Synchronous motor / f3iaert alicz

[Option ID = 301]
. Repulsion-start induction motor / Yuc3pr-3eré $sa9m e

N

[Option ID = 302]
. Transformer with short circuited secondary / ¢iid aifebe s aren Rk

w

[Option ID = 303]
. Capacitor start induction motor / 2ienf¥e| ¥erd gsavror sl

IS

[Option ID = 304]
63) In a 3 phase induction motor, the rotator field rotates at synchronous speed with respect to:

WSl $sagidl dle? A, Aee? Bles FerferRaa @ Jder 3 gearmifers aifer A ggrar 3l

[Question ID = 77][Question Description = Technician_Electrical_Q63]
. Stator / ®e2

[Option ID = 305]
. Rotor / 2

N

[Option ID = 306]
. Stator flux / e wraa

w

[Option ID = 307]
4. None of the above / somt 3 wi$ sft ordt
[Option ID = 308]

64) The capacitor in a capacitor-start induction run AC motor is in series with winding.

Dufrcs-Ferd dsaord o w2l e i duficz arsf3er @ arer e 3 arar 3l



[Question ID = 78][Question Description = Technician_Electrical_Q64]
1. Starting / veif@r

[Option ID = 309]
2. Running / 3fosier

[Option ID = 310]
3. Squirrel cage / Fwarre dst

[Option ID = 311]
4. Compensating / adeafds

[Option ID = 312]

65) MCCB is an abbreviation for

it et forerferRaa 3t 3t Rowrd fore wifgn wu 87

[Question ID = 79][Question Description = Technician_Electrical_Q65]
. Miniature close circuit breaker / fiféreaz aelrsr e Jae

[Option ID = 313]
. Miniature case circuit breaker / fifsrear @ afdse Ja2

N

[Option ID = 314]
. Moulded case circuit breaker / alic3s @ Afdse Jaz

w

[Option ID = 315]
4. None of the above / somt 3 wi$ sft ordt
[Option ID = 316]

66) In the following circuit diagram, if RA=100 Q, RB=250 Q and Rc=50 Q then what will be the equivalent resistance between points N1 and N2?

fogaifeiRaa afeuer s 3, afe RA=100 Q, RB=250 Q 3fiz RC=50 Q @1 a1 fiig N1 3fiz N2 & dfa argear gferier a=n g ?

Rc Re

N3

[Question ID = 80][Question Description = Technician_Electrical_Q66]
1. 200 Q

[Option ID = 317]
2. 150 Q

[Option ID = 318]
3.750

[Option ID = 319]
4. 2250

[Option ID = 320]
67) A wire of 5 ohm resistance is stretched to twice of its length. Its new resistance will be:

5 Q yferter arcr v R @ JAd! cvars b gafel Blol aw far SiTar & A 33T ot yferter Rodor drem?

[Question ID = 81][Question Description = Technician_Electrical_Q67]
1. 200

[Option ID = 321]
2.50

[Option ID = 322]
3.40Q

[Option ID = 323]
4. 220

[Option ID = 324]
68) The Richter scale to measure the intensity of an earthquake is a

sy I dfigar amaor & fore Rracs ¥ v, 2l

[Question ID = 82][Question Description = Technician_Electrical_Q68]
. Meter scale of value 0-10 m. / 0-10 aftez o @ affcr Jdber

[Option ID = 325]
. Nanometer scale of value 0-100 nm. / arer 0-100 Soitefte st T Sloitefics Fder

N

[Option ID = 326]
. Logarithmic scale of value 0-10. / 0-10 amor @ ciferf¥sfira Yorom

w

[Option ID = 327]
4. Trigonometric scale of value 0-10. / 0-10 it @ fpioiaifeas Satrom

[Option ID = 328]
69) The error introduced by an instrument fall in which category?

Roft Suwer gRI Seusar gfe s ouft 3 st 37

[Question ID = 83][Question Description = Technician_Electrical_Q69]
1. Systemic error / Rrefim wa

[Option ID = 329]
2. Random error / 3sa1 w2

[Option ID = 330]



3. Gross error / ajfa1 v

[Option ID = 331]
4. Environment Error / woraronic w2

[Option ID = 332]
70) If the voltage across a capacitor is doubled, the energy stored in a capacitor will

afe fpaft sienfeq & BRi uz dicest @ Spgen @2 fEar s, dr sienfyq ¥ ifa St

[Question ID = 84][Question Description = Technician_Electrical_Q70]
. Increase two times / cl ajor adaft

[Option ID = 333]
2. Remain same / @zt @it

[Option ID = 334]
. Increase four times / @ ajom acaft

w

[Option ID = 335]
. will decrease to half / ae®z amft 3 Smesft

IN

[Option ID = 336]
71) The basic function of a rectifier is to

o IACBRR T Fel DR 3l
[Question ID = 85][Question Description = Technician_Electrical_Q71]
1. Change the level of D.C. voltage / t3ft. dicest @1 32 aGcon

[Option ID = 337]
2. Convert A.C. voltage to D.C. voltage / u=ft. dicest @t Staft. d@icest 3f aceron

[Option ID = 338]
3. Change frequency of D.C. voltage / t3ft. dcest 6t amgfer ageren

[Option ID = 339]
4. Convert D.C. voltage to A.C. voltage / €1ft. dicest @) w2t dicesr 3 ageton

[Option ID = 340]
72) If the magnetizing force is removed from a material, the kind of magnetism that remains is called magnetism.

Afe fopaft ugrel 3 geawea aet et fean sian 3, A S ggadea ot 3BT 3, IA geadd DEd &

[Question ID = 86][Question Description = Technician_Electrical_Q72]
1. Induced / $syps

[Option ID = 341]
2. Residual / 3rgsier

[Option ID = 342]
3. Stray / &

[Option ID = 343]
4. Either induced or stray / gsygs ar 3

[Option ID = 344]
73) Which of the following is of high importance in case of induction heating?

gsaore éiféer & et 3 fosiferRaa 3 3 wior 311 A sifere FrEcayguf 3?7

[Question ID = 87][Question Description = Technician_Electrical_Q73]
. Voltage / dicest

[Option ID = 345]
. Frequency / smgfer

[Option ID = 346]
. Current / @3

~

w

[Option ID = 347]
. All of the these / amft

IN

[Option ID = 348]
74) One kilowatt hour is equal to

uep Rpeliare srar Road aeraz diar 3?7

[Question ID = 88][Question Description = Technician_Electrical_Q74]
1. 360 joules / 360 st

[Option ID = 349]
2. 36000 Joules / 36000 st

[Option ID = 350]
3. 3600000 Joules / 3600000 st

[Option ID = 351]
4. 36000000 Joules / 36000000 st

[Option ID = 352]
75) The rating of fuse wire is always expressed in

WIsT ar &t st sden 3i cerep ot ot 3 |

[Question ID = 89][Question Description = Technician_Electrical_Q75]
1. Ampere - volts / vafkR - dice
[Option ID = 353]
2. Ampere - hours / wadRR - det
[Option ID = 354]
. Ampere / vl

w

[Option ID = 355]
4. Volts / diee

[Option ID = 356]

76) Two heaters marked 2000W, 200V and 1000W, 200V are connected in series to 200V supply, their combined rate of heating is

2000W, 200V siiz 1000W, 200V grrar s <1 ez ojzacn 3 200V 3nyfet 3 313 gu &, dl Jorbl AYep Sifear o2 Breft |

[Question ID = 90][Question Description = Technician_Electrical_Q76]



. 3000W

[Option ID = 357]
2. 4000W

[Option ID = 358]
3. 1500W

[Option ID = 359]
4. 666.67W

[Option ID = 360]

77) For an inductive circuit, the inductive reactance with the increase in frequency of supply current.

wo $sfaea afdse 3, smgfef awic & smgfe i gfy & e ssfea eada

[Question ID = 91][Question Description = Technician_Electrical_Q77]
. Increases / asar @

[Option ID = 361]
. Decreases / @ &t s &

N

[Option ID = 362]
. Remains same / aét 3 &

w

[Option ID = 363]
4. May increase or decrease / a I fic Il &

[Option ID = 364]

78) A small capacitance is added to highly inductive circuit, the power factor will

scafere $sfrea Afdbe 3 vas Bler BURTEA SiisT sirar 3, Al uraR Bacz |

[Question ID = 92][Question Description = Technician_Electrical_Q78]
. Decrease / adan

[Option ID = 365]
. Increase / agam

~

[Option ID = 366]
3. Remain same / a&t &

[Option ID = 367]
. May increase or decrease / @ @ @e A &

ES

[Option ID = 368]

79) The value of the voltage across the ideal diode in Figure given below is

oftdl fow a1u fery & 3nGef SRS @ 3R-UR dicest BT ol 2l

[Question ID = 93][Question Description = Technician_Electrical_Q79]
. Zero volt / ger diee

[Option ID = 369]
. 4volt / 4dice

N

[Option ID = 370]
. Depends upon the value of R / R @ aior we forsfa @ 3

w

[Option ID = 371]
. 8volt / 8 dice

IN

[Option ID = 372]
80) A body floats 1/3 of its volume outside water. When immersed in other liquid, 3/4 of its volume floats outside this liquid. The density of liquid is

urefl 3 v s @1 1/3 3ol urell @ ars: dxa1 @ S| 3 fvs @) Reft srcar ga 3 g san 3 aY s3rwT 3/4 JRIdol 391 ga @ de? dvdl & 33 gd @l Holcd favdon 8?7

[Question ID = 94][Question Description = Technician_Electrical_Q80]
1. 2.67

[Option ID = 373]
2. 1.86

[Option ID = 374]
3.1.23

[Option ID = 375]
4. 3.28

[Option ID = 376]
81) What is synchronous speed of a 50Hz, 4 pole motor?

50 acsf, 4 die 3t &t RBiclorar sifer aem 37

[Question ID = 95][Question Description = Technician_Electrical_Q81]
1. 1200 rpm smdiesr

[Option ID = 377]
2. 1300 rpm smdtest

[Option ID = 378]
3. 1500 rpm smrdiest

[Option ID = 379]
4. 2000 rpm 3w

[Option ID = 380]



82) How many rectifier diodes will be required to construct a three phase full wave rectifier circuit?

off BT Eet da rewrRR Afse o formifor e Roaor MrcwrRR srits & sravaradar gpfi?

[Question ID = 96][Question Description = Technician_Electrical_Q82]
. Three / dffor

[Option ID = 381]
2. Five / ui@

[Option ID = 382]
3. Six / w8

[Option ID = 383]
4. Four / ar

[Option ID = 384]
83) The household energy meter is

a3 Tt affer 3l

[Question ID = 97][Question Description = Technician_Electrical_Q83]
1. Recording instrument / Raifdar sagiic

[Option ID = 385]
2. Indicating instrument / sdidfear sagiic

[Option ID = 386]
3. Integrating instrument / sfcafder sgiic

[Option ID = 387]
4. None of the options / @¥ faweu o

[Option ID = 388]
84) Kirchoff’s law is concerned with

feoxdive @ foraar bt dfea 8?7

[Question ID = 98][Question Description = Technician_Electrical_Q84]
. IR loops / a3, qrr

[Option ID = 389]
. Battery e.m.f.s / dcst Suaew.

N

[Option ID = 390]
. Junction voltages / siagmor dlcdst

w

[Option ID = 391]
. Both IR loops and Battery e.m.f.s / ang.ame. ot siie dcdt € earew. cloit 31

IN

[Option ID = 392]
85) Transformer action requires a

cireRiz gwerer @ for o= smague 8?7

[Question ID = 99][Question Description = Technician_Electrical_Q85]
. Alternating electric flux / srcczalfésr sapiem werar

[Option ID = 393]
. Alternating magnetic flux / siccaifést diwalfes et

~

[Option ID = 394]
. Constant magnetic flux / @iearce gadbier vera=n

w

[Option ID = 395]
. Constant electric flux / ®Ioarde sAmRRa vera=t

ES

[Option ID = 396]
86) Who is the present owner of Gujarat Titans team is IPL

amtiger 3t JRIa arséa da @1 adater aferd wior 3?7

[Question ID = 100][Question Description = Technician_Electrical_Q86]
1. AMD Capital / vearst dfteer

[Option ID = 397]
. Adani Capital / sreroft ®fteet

N

[Option ID = 398]
. CVM Estate / fidiosr woee

w

[Option ID = 399]
. CVC Capital / fifixft Bfireer

IS

[Option ID = 400]
87) How many atoms are present in a (NH4)2504 molecule?

was (NH4)2S04 3rvf 3 fperor uzamvy 2k 37

[Question ID = 101][Question Description = Technician_Electrical_Q87]

1.13

[Option ID = 401]
2. 15

[Option ID = 402]
3. 14

[Option ID = 403]

12

[Option ID = 404]

88) As per “Swachh Survekshan 2021”, which state is Cleanest State of our country?

"Face wdgror 2021" @ SRR, AR 391 BT AT IAH ASA Biol AT 37

[Question ID = 102][Question Description = Technician_Electrical_Q88]
. Madhya Pradesh / aeer ygor

[Option ID = 405]
. Chhattisgarh / et

~

[Option ID = 406]
. Himachal Pradesh / f&amarer yger

w



[Option ID = 407]

4. Kerala / a

~

w

ES

N

w

EN

N

w

[Option ID = 408]

89) What is the name of Russia’s new Nuclear Capable missile capable of striking anywhere in the world?

gfor 3 @&l 9t Ee w0t A AL FA B oI¥ URA AT RrATSTT T SIH AT F?

[Question ID = 103][Question Description = Technician_Electrical_Q89]
. Kinzel / fasoster

[Option ID = 409]
. Brahmos / g@irar

[Option ID = 410]
. Sarmat / JmerT

[Option ID = 411]
. Maryia / sf¥n

[Option ID = 412]
90) The ISRO’s mission for launching Indian astronauts to space is named

siracir siafgr anfeR @ siafssr A Asior d st @ fieret @1 sirar 2l
[Question ID = 104][Question Description = Technician_Electrical_Q90]
. Mangalyaan / sirerRme

[Option ID = 413]
. Gaganyaan / sBloRIGI

[Option ID = 414]
. Shukrayaan / gprmn

[Option ID = 415]
. Chandrayaan / dggiret

[Option ID = 416]

91) Which organ of cell is called power house of cell?

DT B b2 3isT DY DIIDBT D1 9IRD 31 DT sirar 37

[Question ID = 105][Question Description = Technician_Electrical_Q91]
. Nucleus / onfiras

[Option ID = 417]
. Mitochondrion / amsclmifden

[Option ID = 418]
. Ribosome / 2rsaraitor

[Option ID = 419]

4. Golgi Apparatus / aitcrft 3uas2ur

~

w

[Option ID = 420]
92) Anincrease in price of which of these products will have a ripple effect in increasing the prices of many products, thereby resulting in inflation?

sordi A b seure &t biara 3 iy @1 ¢ seurch Bt Hlardl 3 iy ur e gura uSen, Rrid ufyvmerrasu Fgrbifa Spf?

[Question ID = 106][Question Description = Technician_Electrical_Q92]
. Medicines / garsat

[Option ID = 421]
. Smart phones / Jacwioar

[Option ID = 422]
. Petroleum / dQfermn

[Option ID = 423]

4. Automobiles / sifcwiarser

[Option ID = 424]
93) Which of the following metal will be heaviest for the given volume ?

feu a1¢ siRIder & fore foaiferfaa 3 3 wior 2t enrg waY ardl apA ?

[Question ID = 107][Question Description = Technician_Electrical_Q93]
. Aluminum / sregpfiformr

[Option ID = 425]

2. lron / chat

w

[Option ID = 426]
. Copper / dfar

[Option ID = 427]

4. Tin / fat

[Option ID = 428]

94) Who is the Prime Minister of United Kingdom?

Yoirses fasarsar d yeror sieft wiot 37

N

w

IN

1.

[Question ID = 108][Question Description = Technician_Electrical_Q94]
. Boris Johnson / aif¥a1 siforzior

[Option ID = 429]
. Boris Baker / aif¥ar dwz

[Option ID = 430]
. Emmanuel Macron / sdioeet i

[Option ID = 431]
. Andrzej Duda / aiigstst gt

[Option ID = 432]

95) Who is the present chairman of the Economic Advisory Council for the Prime Minister of India (PMEAC)?

HIRA D Yerrel At D fore snféfe Aemser uftus (diosrdeeft) & adaer sieast o 37

[Question ID = 109][Question Description = Technician_Electrical_Q95]
Rakesh Mohan / rer #ltget



[Option ID = 433]
. Dr. Bibek Debroy / f. @ dudfer

N

[Option ID = 434]
. Sanjeeb Sanyal / 3isfta toerer

w

[Option ID = 435]
4. Poonam Gupta / yora1 a1

[Option ID = 436]
96) Lemon is a rich source of Vitamin C. This vitamin is also known as

oy freridror it @t v JgE Ha & s Rierfdor ot @ %u 3 o Stwem smer 3l

[Question ID = 110][Question Description = Technician_Electrical_Q96]
. Citric acid / amsfew ufdrs

[Option ID = 437]
. Ascorbic acid / weaifde ufis

~

[Option ID = 438]
. Phosphoric acid / wizwif¥® efds

w

[Option ID = 439]
4. Formic acid / wififa eRs

[Option ID = 440]
97) Who is current Prime Minister of Shri Lanka?

oftcieor & adarar yerrer At wior 37

[Question ID = 111][Question Description = Technician_Electrical_Q97]
. Mahinda Rajapaksa / aiféar arsmugr

[Option ID = 441]
. Ranil Wickremesinghe / aiforer faraif3ia

N

[Option ID = 442]
. Gotabaya Rajapaksa / aiicar Jrsmust

w

[Option ID = 443]
. Chamal Rajapaksa / awfet aIsmgt

IS

[Option ID = 444]
98) How the government uses fiscal policy as an instrument to combat inflation?

(1) By increasing public expenditure

(I) By increasing public debt

(I By delaying the payment of old debts
(IV) By increasing taxes

Select the correct option from the codes given below:

Forbifer A foracel o e DR ISIBINRI ofifel DI v IUDT B Fu A DA JuAPT Dl 87

(1) adsiferas o & gly wwd

(1) wfoifdras o 3 gfy; wed

(111 gzror avsf & sperearor af 38 A
(IV) w3t 3 gy aed

off fow a1e et 3 3l frveu @1 wrret HifSre

[Question ID = 112][Question Description = Technician_Electrical_Q98]
. Only (1), (1) and (Ill) / @ae (1), (I1) airz (111

[Option ID = 445]
. Only (I1), (Il1) and (IV) / dyaer (I1), (1) ahe (IV)

N

[Option ID = 446]
. Only (1), (I1) and (IV) / @saer (1), (111) ahz (IV)

w

[Option ID = 447]
L (), (1), (111 and (IV) / (1), (1), (I11) afie (V)

[Option ID = 448]

IN

99) Which of the following cup/trophy is awarded to women in the sport of Badminton?

forgorferfaa 3 3 wlor a1 wu/SiBt Fshicar d> Wer A afdemsil @Y yeror H sk 3?7

[Question ID = 113][Question Description = Technician_Electrical_Q99]
. Derby Cup / sdf @u

[Option ID = 449]
. Uber Cup / 38 @u

~

[Option ID = 450]
. Webb Ellis Cup / da eferr au

w

[Option ID = 451]
. Wisden Cup / fstser au

IS

[Option ID = 452]
100) Recently a Brahmos missile was accidently fired towards Pakistan. This missile landed at which place in Pakistan?

ar1e1 & 3 srerclt 2 g Brarsa uifdsedarer 6t 3k geft orf ot A Rrnsa uifsrdarer & Rear Ferrer uz R of?

[Question ID = 114][Question Description = Technician_Electrical_Q100]
. Mian Chak / firii a@

[Option ID = 453]
2. Mian Channu / frii doof,

[Option ID = 454]
. Malerkot / st

w

[Option ID = 455]
. Khyber Pakhtunkhwa / @a2 wcqerear

N

[Option ID = 456]
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